EDEN MARINE HIGH SCHOOL
YEAR 9 ASSESSMENT TASK - MAY 2005
CALCULATORS MAY NOT BE USED

NAME:

SECTION I  All questions in this section are worth 1 mark.

Answer in the space provided.

QUESTION | ANSWER | QUESTION ANSWER
) 056x100= 2D Simplify 2x 1
g 2
2 2-‘-—+Il- 22 By how much is S less than 2 ?
g 9 2
3 Auf= 23) Find V64
24 500 b
4) Simplify % ) Decrease $ y 25%
5)  Add $26.75 to $2.25 25) 75+25=

6) Whatisthe time 3 hrs  and 15
min after 4:30 pm?

26)

Round 12.595 to 2 decimal
places

7)  What is the value of 58.72
correct to the nearest 5 cents?

27)

Double the sum of 4 and 5

8 Find 5°+1°

Write 2 million, 3 thousand and
ten in numerals

9) 35x20=

Find the average of 6, 4, 2 and
10,

10) Find 109 of 587

2
Write 2 3 as an improper fraction

1 Write f;u as a percentage

A test mark is 24 out of 40.
What is this as a percentage?

| .
12) Write I-i- as a decimal

Write (.4 as a simple fraction

13) 15x3-4x2= '

14) Write 2.786 to the nearest

Write a whole number in the
box to get an answer between 8
and 8.5.

hundredth v =
15) :dd 43 1o the product of 8 and 24 %{—; True or False?

16) Write a decimal number
between 1.4 and 1.45

35)

Round 0.0917 to 2 significant
figures.

17) Find the cost of 50 rulers at 30
cents each.

36)

Write i as decimal
000

18) Find 15% of $80 |

37)

Subtract 3.55 from 10

19) Increase $S95 by 10%

38)

4...'.....21-
3 2

20) a;«?::ﬁgﬁﬁgc'anding order
0.1, 0.042, 0.5, 0.15

39)

The crowd at the footy was
39678. Round this to 2
significant figures.

" 40)

Find the cost of 20 books at
$12.50 each.




SECTION II - Answer in the space provided.

- Marks are as indicated

- Working should be shown when appropriate.

QUESTION

41)

Simplify the following
gxpressions
a) 4x+5x

b) 8¢’ -13a- 54°

c) Sw+Tf-2w=3f

d) 3p°x2p°

e) —-4a’bx5ab’

f)12p° +4p

g) (%)’

h) &°

” ?P“"'{PE}'}L

MARKS

{1 mark)

(1 mark)

(1 mark)

{1 mark)

{1 mark)

{ Imark)

{1 mark)

{1 mark}

{2 marks)

QUESTION

42)

43)

Expand the following and
simplify where possible
a) 5(3t-4)

b) -2(4+5k)

¢) H2g+1)+3(4g+3)

d) 3(5h-2)=(7-2h)

Evaluate the following
expressions if a=2,b=3, and

c=-4
a) 2a

c) b -a

d) 2¢*-a

MARKS

{1 mark)

{1 mark)

{2 marks)

(2 marks)

{1 mark)

(2 marks)

(2 marks)

(2 marks)
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Homework sHEer 2F
MName Class Due date

Complete this homework sheet WITHOUT using a calculator.

Part A
: 12m=____  cm 6 S760=___ cents
: 23weeks=________ days 7250g=___ kg
3 %h=__min 83%h=—________days
45kg=-_________ g 9 1500cm=____ m
54000mL=___ L 10 130 cents=5
Part B
1 Write a number in the D to make the 3 Look at this pattern. Write the next row in
value of the pattern.
B +[] Ix1+1=2
D between 0 and 2.
2x3+4=10
2 |ssa thought of a number. He added 3 to 3X5+7=22
it and then doubled the result. His 4X7+10=38
: answer was 24. What was the number he 5x9+13=58
first thought of?
Part C
1 50% of $90 = 6 33%%0f$|2=
2 10% of $350 = 7 17% of 5200 =
3 25% of SB00 = 8 20% of S15 =
: 4 50% of $34.60 = 9 25% of $900 =
. 5 10%0f$48= 10 5% of $100 =
: Part D
. Put a number in each [ | and /\ to complete the calculations.
: . SERE T 7 3 5 3 2
: -+ — X
N A6 A
1 6 9 5 | 7 £ 1 4 4 8§
2 2 & 4 4 7 I 6 3 ”
_I.. S
] 7
5 % [T 9 /\
8 8 I 2 it g 2 A 8

Access to 5.1 Maths 9 Homework Book IJ]_Ll




Exploring numbers

m lime allowed: 45 minuies.

m ot A 20 multiple-choice questions (40 marks)
B [Pt B L3 free-response questions (60 marks)

Part A

20 multiple-choice questions
2 marks each: 40 marks
Circle the correct answer.

1 Findd -7 + (-8).
A 15 B 1
C -1 D -1
2 What number goes in the blank in Pascal’s

irisngle below?!

[ s O
AL BE 7
C 24 D6
3 What is the sum of the first 5 odd numbers?
A4S B 15
C9 D 25

4 W hat fraction of this figure is shaded?

i i
A 5 5
B | T

¢ S 9 E

LA

Shich one of these decimals could be
rounded to 34.717

A 3715 B 347
C 34707 D 34.7039
. 12
6 simphily o
1 3
A = B 10
3 3
C : D =
7 8

NEW CENTURY MATHS @

10

11

12

13

14

15

Name:

. .. B A
What 1s the correct value of A if 0= 10 ?
A 20 B 32
C s D 30
How many significant figures has 0.004037

AS B 2
C 4 D3

What is half of a quarter?
3
1 =i
A l:'l B 3
1 l
= D -
k 6 8
What is the average of 8.1 and 8.397
A B19 B 8.245
C 82 D 829

Which operation will convert 87.025 1o
870257

A divide by 100

B divide by 1000

C muluply by 100

D multply by 1000

Round 758.758 to the nearest tenth.
A 75876 B 759
C 760 D 7588
3% 15 the same as:
13 B
A I B 3
31 7
Find E of 24,
A2 B 23
C 15 D 18

Which fraction does net convert 1o a
recurring decimal?
3 3
= B =
2 7 8
3 3
C = D —
9 13

@ Nekson Australio Py Lid 2003



Topic test 1: Exploring numbers continued

16 Find{(I1B+3+6-3)x2.

A -6 B 20
C 14 D2
: 73
17 lind (ﬁ) .
T6OS 14
1000 B 1%
. 14
C & D P

18 Which expression has the same answer as
274 +032

AD274x3 B 0274+3
C 274 +3 D 274+3

19 Which of the following is smallest?

!
A 3 B 0.4
4
C B D 0.04
20 Simplify E—;
a1 5
A 23 B 13
S 3
C I3 D 23
Part B
13 free-response questions
60 marks

Show working where appropriate

21 (% marks) Place these decimals in ascending
order: (LE51, (0.8, 0.85, 0803,

22 (6 marks) Find:
21 2.1
ol b
2 1
' - —
3 4

23 (2 marks) What decimal is indicated by the
arrow on the number line?

.i

o e

(V]
e )

24 (8 marks) Convert to decimals.
7 14
a - b —
8 25
+ 5
oL o
0 a 6

MNEW CENTURY MATHS 9

25 (8 marks) Evaluate:

27

28

29

30

31

32

33

a 32-2(5+2x3)
b 10+3x8+(-2)

e JEx12-T14+2

18.8 + 5225
3.12

(4 marks)

a Write down any fraction and its
reciprocal.

b What is the product of any fraction and
its reciprocal

d

{2 marks) Circle the largest fraction:

22 L

4°8'10°

(6 marks) Evaluate correct to two decimal
places:

a 48+0.52
1

b -
T

c JB75x07

(8 marks) Convert to simple fractions:
a 0.84 b 0.025
¢ 016 d 045

(6 marks) Round these numbers to three
significant figures,

a T.0426
b 937 260
¢ 0.0037811
(3 marks) Insert grouping symbols to make
this statement true:
24— 18x3 +5=48
(2 marks) Place a whole number in the blank

to make an improper fraction whose value is
between 4 and 5.

O

3
(2 marks) Write down a (raction that is

1 2
between 3 and

5.

END OF TEST.

@ Nelson Australia Py Lid 2003



9M1 Rational Numbers and Algebra Topic Test Name

Calculators may be used.

All necessary working must be shown to gain full marks.

1. Express % as:

a) a decimal
b) a percentage

2. Convert 12-5% to:

a) a decimal
b) a fraction in simplest form

3. Convert 0-225 to:

a) a percentage

b) a fraction in simpléest form.

4. Write the following decimals in ascending order.

0-303, 0-333, 0-003, 0-330, 0-033

5. Express 44 as a percentage of 80

6. a) Decrease 720 by 12:5%

b) | f 6% of my prizemoney is $90.

Find the value of the prize?

7. What is the overall percentage change after a
percentage increase of 25% is followed by a
percentage decrease of 10%?

8. Convert the speed of 40km/h to m/s,

9. Round these numbers to three significant figures.

a) 3-0576 b) 69 817

10. How many significant figures in 0-03077

11. Convert 0-72 to a simple fraction.

(Working must be shown)

Let x=

12. Find a cubic number which is also a square
number?

13. Find a number whose factors are

1,2,3,46,912,18,36



14, List two examples of numbers where the square
root of the number is also a square number,

gl 2=
1sh Sk
15. Write a 6 digit palindromic number.
Tx 2x
hz+3*
16. Complete the number patterns:
a) 1,8, 27,

241 x-1
b}1,1,2,3,58 __, __, g Z==-=
17. Write the next two consecutive even numbers

2n,
18. Evaluate whena=-3 ,b=6andc =9
a) 5a?= 20. Write an algebraic expression for :

a) 4 less than the product of of n and 9
b) Vb2 — 4ac =

b) the average of 3, b, and ¢
19. Simplify

a) Sp+9y-p +3y =

21, Expand and simplify if possible

b) 5x2y + 3yx? = a)(p+5)p+3)=

b) (2m — 3)(3m —8) =

c) 2ab x 4bc = i
) (10-3y)2+y) =
4y® 3 =
d] Y Rk =

3x 8y



22. Expand these perfect squares

a)(y+5)%=

b) (4x — 3)? =
5 2

o) (m+3) =

23. Complete these perfect squares

aj(p ——_ )=__-12p +36

b) ( )2 =9x% + + 100

0 ( )2 = h? +22h +

24. Expand and simplify if possible

) G+5)+3)—1)

25. Use the difference of two squares method to
expand

a) (d—5)(d +5) =

b) By +11)(3y—-11) =

26. Expand and simplify:

a) p+3P°-(p-2)(p+2)

b) 2(9x — 2y)?

27. Factorise .

a)dx +8 =

b) 9x?y — 3xy* =

28.

I
1}

_:);-mi
n

(3x+4)cm

Write an expanded expression for the area



U\c."o.ﬁ- Q Revision

l. Write 0.8 as a simple fraction.

. Write 6% as a decimal.
33Find the perimeter of T
this .
15 square 1 1 3h
h) Riea = o S S 2

4 What is the cost of ; kg of tomatoes at
$3.80 per kg?

5 A jogger runs 6 km/h. How far will he run in
15 hours?

6 50% of $17 =

7 Write ; as a percentage.

8 Write 0.9 as a percentage.

9 Find the reciprocal of:
—

a) L5 = &

1. Find the average of 6, 9, and
15.

\\. Simplify 75:125.

12 aFind the average of 3.2, 3.9 and 2.8,

b) A motorist paid $37.08 for 40 litres of
petrol. What was the petrol price in cents/
litre?

¢ ) Evaluate H correct to two
decimal places.

d) What number must be added to 9.71 to
give 10.157

¢) Tanya earns $8.50 per hour for baby-
sitting. How much does she earn for

working 3% hours?

¢y Divide $45 in the ratio 2: 7

Q) Find 10% of $65.

QuesTion 13 Complete the equivalent rates.
ay 60 km/h = km/min
B $5/min= $/h

) 40Lh=___ L/day
a) Wmb/min=___  mlL/h

QuesTionid
a2 Change 150 km/h to km/min

b Change 100 km/h to km/s

IS Ifi=8and y = -2, find the value of-
a h+y=
b y—-h=
c dy=____
dsi=__
e 2u-5h=
L]
6. Simplify.
a)bax3=
b) 3ax4d=

€] 6m+2m=

el Tad3a=

.Q) de—-106= — ——
) 8ab — 3ab =

W) Smo—m=

9 Apq +Oqp =

. .Round the following to the number of significant

figures indicated in the brackets.
a) 439 (2)
b) gusq (D

¢)  N.037I (2)
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1 Calculate the net income in each of the following cases: o
a Gross income = $2160, tax = $676, other deductions = $327.80
b Gross income = $547, tax = $106.70, other deductions = $94.20

- ©

Astra is the manager of a jewellery shop. Her
. salary is $52 000 p.a. Calculate:
a—Astra’s It\l-L: ?ﬂu—\

b the holiday loading Astra would recejve
when she takes her 4 weeks annual leave

A.Gretel sells cosmetics and earns a weekly
wage of 5240 plus a 4% commission on
weekly sales. What is her pay for a week in
which she sells $1492 worth of cosmetics?
¢ her total holiday pay.

3_ Madonna earns $10.27 per hour. How much
will she earn for working 7 hours™® -

Tax rates 2007-08

n . i i e st

| Taxable income

come |[Tax on this income |
51 - $6,000 Nl

I
et i -'——\.J v AT W . ke A e sl
— T

p—
$6,000 i

. Kristine earns $13.10 per hour and receives

$884.25 each fortnight. ” 6,001 - $30,000 |{15¢ for. eaEh$‘1 over $6,000
a How many hours does she work in 2 830,001 - 183,600 plus 30c for each $1 over||
fortnight? 1675,000 (130,000 j

b If she works 9 days per fortnight, how

‘?‘énm e 1;‘:‘;1?,195 lus 40c for each $1
many hours does she work each day? §1 50,000 ;iouer $?5?ﬁUU

i

e e A

] 11$47,100 plus 45c for each $1
‘over Hover $150,000

A

e e e e e J[

R. Vse *we Yox rode Tolle ocvoee Yo
calewdoh e Yue Mo Qu-.\q.ﬁ;l' on A
foxolde ‘nceme ol

3, Justin earns $12.25 per hour. A bk aao Wise ceo
a How much will he earn for 8 hours work?

b For how many hours must Justin work to
earn over $8007

@ Tode \as o aress vntemc e&ﬁ.xbu eot
ok St Astatiaows otEs 00
DFmA Wis doxole \ncome

&. Sanjay works 37 hours at $10.57 per hour
and 3 hours overtime at time-and-a-half.

What is his total pay? W) Colewdeke e am ew Y b Yox due

\tDThn.\AL-CL'E ?@&Qﬁ.q@@b 1. 31;-“ :n&ma
Wil he cbé} o cefund oc a o \W\?



